B /\BREX-/\BAEX-FHX

TH746 A FMBIL R

(HpFEREH 1] No.1

2H(R) 3HCN) 3HCN)
M4 =(g) ME4 =(@| |#uzs ME4 =@
R (K) 100 R (K) 100[ |k [E¥AY 42
43 206 43l 206 (L _[81r7yInsumE| 24
‘y7|’ 7—E F(X54X) | 36

5 G175 40 ERRCEFIN) 14 ~>J_c+f55f’im 1.32

L. |1& 0.2 (B AV (L) 21 | |BE 1.98

I fr AL—$ 0.35 42 (8) 14 |7 [ 0.19

LSy AZ=TDEE | 028 f-ERE 56| |F A[FEIL&LS 0.01

= olhEH 2 [CACA 21 | ¥y

T 3550 28] | 2 [E==v 7S

ad 4 [CE38 028] |7
(| KEXKE 36 5 Ty a)l—LIKE 14
INERR 2.4 s Y54 1.4

i [FLRANLTEGY) 18 | hEH 7

B E Lo 60 A <—HU2 GRER) 7

N C|BITH 9.6 5 42 (GAER) 84

5 ZE[IZACA 12 1 R EDN 42

HACRYTIVE—R 6 2 7K 42

MY ESE 1.2 MERF—X 14

Z (W 6.6 BASZ—TDHE 14
L&S (CLKE) 3 7K 14

B 0.28
21 42 FECLES 0.03
| l=FRE 42

E%‘iﬁibb\&) 4.2 z |[Lehirg 40

F%IFE E#Qg 7 JAY 'U'377$ 4

0)*\:‘/‘1%7\—7"0){,& 2.1 1 | 0.15

7\75( 7K 140 > | FYINHE— 0.1

A 014 | I [pL=H 0.1

7 v ECLED 0.03 R

=
~
4H(K) 4H(K) 5H(K)

] M4 20| |#muzz M4 =(g) ME4 =(g)
HE R () 80 e &) ¥a—4 36 R (K 100
42 206 = Y545 0.7 43 206
FEDA 39 :§ () ARSD 42

sI1EdY 19.5 | [CALCA 14
x| Y54 2.6 5 ES) 9.8

;) | ZAlzeL 21

Y + LogFL 3.9 =B 1.82

_¥ P XY 52 #H#YA 0.98

! L A [I55 6.5 LESH (C1CE) 2.8
- * [FS5H 078 | & [k
= I L5 (SLKBH) 0.78
BRUOEA 26| |kb - FAREZ—Y—R 0.78 —B#HE (=) 40
L&5A 1.3] |6 ; 15 0.07
AH—=1vH/89 58— | 0.03 o
Y548 1.3
s =FhE 52
v [SALA 19.5
| [ELLW 1 (£H) | 065
s HhF 6.5 R (ETY) 14
v [EXETFrvT 1.04 500 28
| [ZEHE 1.3 f=ERE 42

5 L&5W (CLKB) 2.6 & IZACA 7

[ RHE(FR) 9.1 5 INAE 18.2

5 [BASR—TnEE [ 013 < WS ICERE)) 35

Z |ERLeA 0.13 3 [CAH 1.4
TAH 0.65 o+ 7K 2.8
7K 1.3 TIWYZ(ELA) 42
ZFH 0.39 ZANELA) 0.7
K 325 7K 126

15 0.28

BH1X 1




EME-/BHEX -/ \EEX - F AR SF7E6 A MR (h2EH1] No2
6 H (&) 6 (&) 9H(A)

BRI % M4 =(@| |#izs ME4 =(@| |#uzs ME4 =@
—BR(K) 100 e ey 43 [ AE) 100
43 206| | = [EEAHDY 0.36 42l 206

;['] L&SW (CTLKE) 2.64
B (RS54 R) 28 - R (ETY) 28
L&A 0.7 _ |[f=ERE 35
Cohil 112 2® [ICACA 14

E [-FhF 42 A [E—< 7

) [IZACA 21 & [E33AZLGR—ILE] 21

F [RZAlzel 42 B [US54ih 14

A [(R) EPVAITA 7 Fr (0 14

C |¥34%m 2.8 x LR (SLXKE) 2.24

*I=EE 5.32 D 74> (8) 1.4

» A 1.82 YV | TAHR 0.7
L&S5W (CLKB) 10.5 T [k 14
ERCYPA 0.27 | & 0.14

FECLES 0.03
)R (FEEY) 35
=Yoo E— | 002 g (NI 7

+ (& 0.18 L R &HsY 28

o [EELed 0.02 p [LDLE 42

x [hEH 35 A |EERE 42

5 |22 23 o [SALA 14

¢ [ 1.2 p | EXNY 42

g |RET R 1.2 5 XAV GHER) | 14

Y L5 (CLKB) 1.2 1 |EEL GREA) 70

Z |TAH 0.1 F BRAE#EL 5.6

7|' 7K 0.2 o K 56
7K 1.2 5 aAVVAR—TDEHE | 07

Y IK 7
| & 0.21
EI ) 0.03
9H(H) 108 (k)

B4 M4 =(@)| |#uis M4 =(@)| |#uis M4 =(g)

= WY (FhAY) 6 R CK) 100

o FNY 0.3 ) 206

Yy [FS5H 0.2

L (B0 2l | & |[CR)HLISA 50

Y HYA 0.4 C (Bl 5

Z [LESW (CLKE) 04f | 7 [=BHEV—R 5

7
"t
=|E03Y 28
Y EXE TS 0.42
Y EDISES 28
E ) [EE#ER 0.42
'§ L 42
Z|EE 3.36
E*"" L&KW (CLKB) 42
i':
Al
NE.
x
1)
EHIT 28
» |[E=FhFE 42
X [hFbe 42
L [IEHH 42
v [XHZ(B) 7
D | EHE 7
& [WYZ(F=LA) 42
Z [K 126
i+

Bith[X2




ENR-/\BER-/\BAER-F AR SF7E6 A MR (b4 E# 1] No3
118GK) 118GK) 128(K)

s M4 =(@| |#izs ME4 =(@| |#uzs ME4 =@
FAZN UNER) 70 R— 14 R (K) 100
4E 206 LRILRESYHZRE—D X 14 43 206
—BHESSINEISYL|] 15 =FhE 42

S IZALA 14 BUOEA 28
ETSI(ERID)) 20| | T [V 35 fERE 42
Cohg 50 5 H—=1yH/8958— | 0.01 1IZA LA 14

C |albybF—X 9 o 1B (W) 0.14 L&A 0.7

A=Y E— [003] | I |[AU=T 14 () &5352L 14

»N |FU—Th 2 ;\ R (EPY)E 35 IR 14

W IMFTEH 0.2 =2 E—<> 7 [GEE K 28

b [ALA/ 0.02 A E3EAHCL(R—IL) & 7 % Y5450 14

& AL 0.02 O EBALX—TNDEHE | 1.68 i< =B 2.1

(15 0.2 | [ FZYAT 0.01 < B 0.7

A [EILELS 0.02 = INTYRHINH T — 0.01 # HYA 1.4

) 7K 63 L& (ZLKB) 6.3

F 15 0.07 BASZ—TNHE | 112

|0 ) 0.03 —REEZF 0.01
TAH 2.8

15 —B7—E R\ 10 7K 5.6
= 7K 28
g 0.07

LOEFE 416

F LRILEESCHHET | 208

b IZALA 13

., Bl 26

i HS545 5l 1.3

IRt 1.04

[ L& (ELKE) 1.3

15 0.13

FECL&ES 0.03

12H(K) 13H(%E)

v MEE =(g) B2 ME4 =@ B4 ME 4 £(@

—B(A L —oT—9—E)—| 50 ZER(K) 100
4E 206
REUOEH 28
v | EBIT 84
7 |f=FEhFE 56
F IZALCA 14
¥ (fzIFDIKE 7
v A ESHhAZSHvR) | 14
F|ELGIFRSAR) 1.4
7 S5 14
7 |HbRE 0.7
A [#YA 238
E (L5 (SLKB) 7
5 [BASZ—TDHE [ 098
f |[3Fasvry 0.7
TAH 0.7
11K 14
& [k
" |iE 0.14
5 |OD)EES 35
& 9S4 H 1
=
ICACA 18.2
3L 35
T |FYSE 2.8
L [TFh 0.7
L B 0.28
L& (CLKBH) 35
FRLLA 0.21

B[ X3




B /\BREX-/\BAEX-FHX

TH746 A FMBIL R

(PPREH1] Nod

168 (H) 168 (H) 178(K)

BRI % M4 =(@| |#izs ME4 =(@| |#uzs ME4 =@
/F\gLL\/\"‘/(/J%%) 60 U /\ZEZ 13 i:‘ﬁﬁ(ﬁk) 110
42 206 1IZAL 7.8 EN 206
—BIIL—ARJ—IvL] 15 C IMALEELEH 6.5

FT (E33AHLR—IVE]| 13 EAETY) 14
RINT YT A 42 D [FLUOLZE 2.6 L5H 0.7
15 _ 0.07 N [A=UvDR9F— 007 Y5450 2.1

W HS4 __ 14 ~ 7ru_—7;§|a 0.65 () ARAD 14

F [LhRECHHFET | 35 | B LS (5FLE) 0.78 I<ERE 28

o {:iﬁf 70 ; T(u*%$% 0.01 th (j;/uu/u 14
“AL 28 7 = TRy 70

b emssE=x 11| | | B 013 | 3 [BIAEEGD | 14

| jjjl{\:;a/\rbsz— 0.01 J [FEZLES 0.01 4 =BIF(RFAR) 2.1
S *fvf,,E 1.4 ___ M Elb% 14
| I{JIV/F’f;"V 5 8.22 BELERE AN 133] | 14 %AE }.4
Yy . s 3 4

z 5% 058 < g,%f;g@(:gftét 7
o |V— . - |EBASR—TD 14

W ETVAR=TDEE [ 112 b [cAB 42

v =L 0.01 7K 8.4

= 7K 224 ZFil 0.7

S 0.21 7K 35
FCL&S 0.03 = 014

FECL&ES 0.03
178B(CAK) 18H(K) 18H(K)

v i MEE =(g) B2 ME4 =@ B4 ME 4 £(@
EHIF 70 IV UNER) 80 f-FhE 56

L E (BZAEELES 7 L 206 IZALCA 14

a%@ﬂ% 2.38 —&FaakEs)—L4L] 10 o TRy 42

HFLESOCNCE) | 294 = [E3EBELGR—VE] 7

R plh2EELOLE 0.24 F|UR)FERLHY 60| | X [L¥RXE 7
K + 5Tl 8 | %Etﬁ%x—?"(b%& 2.1

> 7 126

+ INEFLVH 42 ;73 7 15 0.21

Ly 5 FCL&S 0.03

A 7

7K
Ay
\\J I
T A
z
A
59 28
9:%(7“55 3.2
ij:i#a%‘ 21
~% ICACA 14
730“/ rEETIVE 28
7N 5 F—<> 7
j_ 7|_€ 7J_U _7/H3 0.84
| FERE T FovT 448
3 | (Bb4E 1.82
VG,E’F 0.9
ZE=LJL 0.01
id-wj/ 0.01
15 0.18
ECLES 0.01

Bith X 4




EME-/BHEX -/ \EEX - F AR SF7E6 A MR (h2EH 1] Nob

_ 19l‘E'|~(7|<) _ 20H (&) 208(%)

s _ ”HH«’% =(@| |®is _ ”H*ﬂf% =(@| |#uzs ME4 =@
;g{i(ak) 100 ;ﬁ_Ji(*) 100 Ty 42
4E 206 &3 206 = E5EACL(R—IL) &R 7

i = |RE[LEEH 4.2

s ;%):5(;{:)]5; 60 ﬁzu_ﬂé[ﬂ 28 F:ﬁ TYCE 42

| LAt 1 L&dhy 14 | 3 [CFH 042
g ;Ljnf ? Z;—"s)l;yE’J/\rb&— 0.14] | i [B¥E 1.12
A S5 14 | 5 [EF 2.1

a% L&S0 (C1<E) 5 Conthg o1] | 4 [LSBEE) [ 322

53 EHE 5 f:i#@% 56 2 0.17

& [K 20 . (E:/UL;/U 28

_ V [BhE 7
Ctbbib\% 49 H | FryT 14

i oBA____ 14] | Y [#biE 0.84

B Ailed 2P 5T <B) 0.84] | BR [L&SW (SLH) 6.72

10N Z EHZT 5.04

e SRLLA 0.21

O TAH 14
= 7K$E 2.8
2E 49 ZFil 0.7
=FhE 28 7K 14
IZALCA 14 15 0.07
GR)IMAZE (BIvh) 14

<+ :Fltl,l,\f_:('f(éﬁz) 0.7 EWbLAYAYTSA (FE5) | 20

* l_,otoj?(?@“%) 392| |h [USHH 2

l/ v_/\lrb\(f:'vm) 1.4 U

st M OBE (L) 42| [ALy
7K 126] U b
= 021] [Z L

>
4
21::31?()51) 24H(K)

waz]  #HA B@| [muz S B@| [muz A g

HEH 0 80 = 163 00 =L
S 206 2, 206
—BUOLESYUMIT 2.8 —BSFAYUNIT 25

. |[BAAEH) 585| |,y [OREBL/A—EEBITF] 585

B 3t %@#E 2.99 | [Cehng 39
FTHED) 585 |~ Y [BIFA 9.75

0):!% HI’)/\J 1 95 7\ L —

ﬁ%b A . * J/u? i 13

=3 £33 (ZLKH) 39| |2, MHETET 0.18

=k lj.,_g%ﬁ#lé 182

= 1.82
AEboAEAE | 60 || LILSREndE) [ 182
(A MEIFZ (FREIY) 13 Za)

[EERE 325| |*0

~HBEhE 13] | %

2.%%% t{)ﬁ_ﬁ())f%ﬁq()%) gs (;%)g\igc(fﬁmtﬂ Wl 14
(WY (F . JURUDA 7

T NG E:) 0.65 g FEh= 28
7K 156 5 IZALA 14
18 0.13 N EE 42

___ 5 A1) IMRZE (Byk) 14

= bh)khi(‘%;ﬁi;a(')’ 6.5 y HBEIF(RSLR) 1.4

3{”'—95{)’3;” 52 2 %bﬁex—?"w:&,t 2.1

il f 3.9 7 126

FA|HSHH 1.3 ;o & 0.21

AVIHYA 0.78 ECLES 0.03

Y Y [LE30 (CIE) 2.99 '

VJ | HEMAE 45

~F
—RCA)RAUTyTL ) | 40 ﬁj;ﬁ\
A

B[ X5




ENE-/\BERE-/\IBER-FEX SH75E6 AL R (%% E$ 1] Nob

25H(K) 25H(K) 26 H(K)

s M4 =(@| |#izs ME4 =(@| |#us ME4 =@
N UNER) 80 ¥R (EYIY) 7 E TR CK) 110
42 206 Tﬁ;)ﬁ\gu%% 28 43 206

= 28
BRUO=@A 21 T/hiaE 14 BUOEA 28
=FhE 18.2| |RE[ESIF(RSAR) 14 L&A 14
A+ IZALA 98| |HE[TfE—T> 9.8 H—=1vyH/895— | 0.01
= [B32CLGEoVE] T F | 3558 07] | &t [FS5m 1.4
k HS54H 14| R Z|AFTEHF 0.7 N (f=FhF 98
g [AVAR=TDLE [ 042 | »[LeSw GF<E) 1.4 | W [[CACA 35
y = 028| |7 AlEASR—TDLE 1.4 % [r=bk 14
S 5$:p;5 0.01 Yk 133 X |EITOIKE 14

. CohLrg 56 15 0.14 Ly |/h#AEE 14

= Holsd 0.03 ; AL—# 0.98

_ £ & 154

—B3—45 )Lk 105 W [HYA 1.54

F L&KW (ZLKE) 1.54

7 [v—& 3.22

#yfty 30 14 |BASR—TDtE | 154

e 2:7'3! JH 0.6 h |TA 14

X 15 0.1 L [k 2.8

S | [B=Lw 0.01

A4 7K

W 18 0.28

k FE 0 53.6
—B5Fyvd 8 wp

H R T

VT 5y

Kk

26 H(K) 278(£) 278 (%)

B4 M4 =(@)| |#is M4 =(@)| |#uis M4 =(g)
HhA fR) 14 N (BEINER) 80 LRLRKEBVATFAT| 42

- |ERETY)E 14 43 206 f-FERE 56

STUACEONE 14 m[X=HUT GHER) | 14

,; I [BEARE—LE)] 42 BUOER 28| | \[EELGEER) 70

Al A=)y — | 001 |2, [BEE¥EL 5.6

?Z Y558 14| || (/‘ka 5.6

LE Z‘:itaf 28| |2 o :k‘/‘/xx—v"@té: 1.68

[ > —ALC 14] (227 35

Y D (&P E 35 (Diﬁ 0.14

E5EACLR—IV) R 7 ECLES 0.01

F | CE)IMAE (Bvh) 7

) ILLX="E 42

b FRTFYYT 7

EAIB 0.42

b [aovAZR—TDtE | 07
F)Y—X 2.1
BIRIND)L 0.03
TAH 0.7
K 1.4
15 0.14
FECLES 0.01
B)YTL—rFLLY| 50

j_

N

L

Vi

Bit[X6




ENR-/\BER-/\BAER-F X SF7E6 B SEMRR LR (b4 &R 1] NoT

30H(H)

BB ME4 =(g) BRI % MEE =(g) BRI A MEE =)
ZHRCK) 100
43 206
R (ETY) 21
Ei&lF 56
0N 42
Cehilrg 56
-Fh¥ 42

s [SACA \ 14

7 WD SPVAIFA 7

= [BRE 14

= YSAH 14
=B 3.5
L&ESW (CLKB) 28
L&5W (59<H) 42
15 0.14

L. |[EeY 48

L FLESA 0.24

5&#59‘5& 0.6

MOLESD (CLKE) 0.24

i Y & 0.18

DECLELD 0.02

% HYDMAEE 19.5

e

Y

1)

1A

&

v MEE =(g) B2 ME4 =@ B4 ME4A £(@

B[ X7



